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Let be the incidence rate of mortality for group 1 and   be the rate for group 2. The interest is in estimating mean difference (D) in rate and constructing 95% confidence interval for D. 

Under the assumption of independence, an expression for the variance of the rate difference can be obtained as:

The 95% confidence interval for rate difference is then:

The default output of metarate command in R software returns the standard error of the rates on logarithm scale. The variance of rate can be approximated from the estimate of variance on the logarithm scale using delta rule. Following equation (2.8) in Collet (2015)[footnoteRef:1], the variance of g(X) can be obtained using Taylor’s series approximation: [1:  Collett D: Modelling Survival Data in Medical Research, Third Edition.p26 (Equation 2.8). (2015)] 






